THISEE BRERQILSE

4

EFFRAFEER ABIHERMD

=
= Bl EREEHEEES R3.3.23
RIS — R EOREE " SHEENR
e | #He | 2| 2 AEER SHERR & SHENR 2 & i anzo | ZHE | 264
5 % - | 2=y | © 251, o i o s @ Bk st 5%,
= 2, = ~"— = = g 3 .
B R pimiy | wmms | 5 R s & A s 5 5 & g ¢
f= Q= m=
a b crd+e h . j k I f+i+l n 0
© ‘ ° (=s+h) N itk : o
Z X Z & 2 160 T% 7 23 23 o 133 13] 7 156 154 7 EE | &= %
BHUATL| } i i ) ; . y ) os o ) BRUALL
JE £1 | 2 IEERALIE 1 120 ERLIE | 1z gp g s
BHRETF 2577 ] A7 7 | TR
= 3 120 7 7 2 3 57 2 3 104 o8 % 0
= & 6 240 195 195 0 195 195 0 5] = =&
wmiTd | ® & ] 40 40 40 0 40 40 0 B & | T
=T 7 280 235 235 0 235 235 0 5] =
= & 5 200 200 200 0 200 200 0 20| = &
wiTm | BERE | 2 80 16 16 16 0 60 60 0 76 76 0 BREZ | I E
7 7 280 16 16 16 o 260 260 0 276 276 0 20
RiIm | = & 5 200 15 3 18 18 o 159 159 0 177 177 0 1] & & |mig
TR ] 36 7 0 7 7 0 22 22 0 29 25 0 W
BEFRm | | 36 1 0 ] ] 0 19 19 0 ] ] 21 21 0 BT
E 5 ] 36 8 0 8 7 ] 17 17 0 25 24 1 E &
wiTz [ 8 7 1 36 2 ] 3 3 0 22 22 0 2 2 27 27 0 B 7 |WiITE
BB | | 36 10 0 10 10 0 26 26 0 36 36 0 B R
BEMHTE| 36 8 0 8 8 0 19 19 0 27 27 0 RESHIE
=t 6 218 36 ] 37 36 ] 125 125 0 3 3 165 T64 ] =1
B i } 80 5 85 85 0 95 95 0 180 180 0 e
INS EEEDSRR 1 180 EEEESRZ] 4
WIER emmm [ gL | LR
= 5 180 80 5 85 85 0 o5 o5 0 180 180 0 =
AR || 40 11 11 11 0 29 29 0 40 40 0 EMEE
- B tA || 40 16 16 16 0 20 20 0 36 36 0 BB LK | oo e
WIIRR Faasa 2 80 25 25 25 0 44 44 0 71 71 0 mowr | LR
s 4 760 52 52 52 0 o5 o5 0 147 147 0 =t
x B = & 3 120 15 15 15 0 71 71 0 86 86 0 E & | X =
® | = 55 3 90 5 4 0 0 0 57 54 3 66 54 12 % & | & |
=7E | Baxn | 4 760 T8 0 T8 17 ] 120 719 ] ] ] 139 137 7 RE2F | =B
Bank | % & ] 40 23 23 0 7 2 25 25 0 * B |meaak
% & z & 7 80 14 18 32 26 % 37 37 0 69 63 6 T e | Bm
T | = & 4 144 25 25 24 ] 719 719 0 T44 T43 ] Z & | FH
= 5@ 7 252 0 0 0 D44 D44 0 244 D44 0 2] = &
- T ] 36 0 0 0 36 36 0 36 36 0 B | b=
=T 3 288 0 0 0 280 280 0 280 280 0 2]
W 1 36 T 11 11 0 21 2] 0 32 32 0 W
E & ] 36 9 9 9 0 2] 21 0 30 30 0 E &
wETE [Zzmm [ 36 9 9 9 0 14 14 0 23 23 0 BIm |HETE
# & 1 36 16 16 16 0 20 20 0 36 36 0 & &
s 4 144 45 45 45 0 76 76 0 121 121 0 s
i 3 108 13 13 13 0 64 64 0 107 107 0 TS
mEEE | BHmAE || 36 12 12 12 0 24 24 0 36 36 0 BHRIE | HEEs
£ 4 144 55 55 55 0 83 83 0 143 143 0 0
EmEE | 3% 5 0 5 5 0 4 4 0 29 29 0 T
BESEE || 36 8 ] 9 9 0 22 22 0 31 31 0 B ISR
wEEH [epp= [ 1 36 15 ] 16 16 0 20 20 0 36 36 0 BEEE |HEEK
MRS | ] 36 12 0 12 12 0 23 23 0 35 35 0 BMELE
£ 4 T44 40 2 42 42 0 89 89 0 73] 73] 0 :
= & 5 180 19 8 27 26 ] 153 157 ] 180 178 7) = &
*x #t & ] 36 23 0 23 22 ] 13 13 0 36 35 ] B | x #
= 6 216 42 8 50 43 2] 166 165 ] 216 213 3 s
= & 3 120 90 87 3 ] ] 9] 88 3 = &
x M T ] 40 40 36 4 40 36 4 BN | X ®
=T 4 160 130 123 7 ] ] 13] 124 7 i
B | BasH | 3 120 8 8 8 0 73 73 0 81 81 0 BaTH | B B
BETR | = & 3 105 34 ] 35 13 22 4 20 4 ] ] 40 33 27 % B |BETR
= 58 2 ) 19 19 12 7 41 40 ] 60 52 8 = &
% + | EZRE | 35 12 12 5 7 23 20 3 35 25 10 EERM | & £
=t 3 o5 31 31 17 14 64 60 4 95 77 18 =t
T E Z & 7 80 0 7 7 0 7 53 53 0 7 7 57 55 7 E s | 1=
e 40 ] 0 ] ] 0 10 10 0 11 11 0 FEHg, - O ok
TaTE [BE-Ea] 40 9 0 9 8 ] 29 28 ] 38 36 2 EE-EL [TETE
=T 7 80 10 0 10 3 ] 39 38 ] 49 47 7 s
= & 4 160 160 156 4 160 156 4 = &
E M T 1 40 34 34 0 34 34 0 B N | E @
s 5 200 194 K 4 194 750 4 :
i 1 TS
EmEE [BEnE ‘f‘ 80 16 16 16 o 4 49 0 & 67 0 BHILE | EEmE
£ 2 80 7% 1% 1% 0 29 49 0 2 2 67 o7 0 it
EIERM || 40 6 6 3 3 18 14 4 8 5 29 18 1 A
EEKE | BEdE | ] 40 2 2 ] ] 10 10 0 12 11 ] BEE |EAKE
=t 2 80 8 8 2 4 28 4 4 8 5 41 29 12 it
= & 3 120 113 110 3 113 110 3 = &
#* M T ] 40 22 21 ] 22 21 ] w4y | % @
= 4 160 135 73] 4 135 73] 4 B
BB | 40 T 11 T0 ] 13 13 0 4 23 ] BT
E & 1 40 10 10 10 0 9 9 0 19 19 0 E &
REWE |(EmEmTE| 40 13 13 13 0 14 13 ] ] ] 28 27 ] EmEE T 2 E IS
BEZR | ] 40 18 18 17 1 19 18 ] 37 35 2 BAZFH
=t 4 160 52 52 50 2 55 53 2 ] ] 108 104 4 =t
= B Z & ] 40 10 20 30 23 7 3 7 ] 33 25 8 Z e | = &
ETLE E & 2 80 36 36 15 21 44 28 1% 80 43 37 E B | 2
= & 2 60 ] ] ] 0 45 45 0 ] 0 46 46 0 = &
=W i ] 30 ] ] 0 ] 26 26 0 27 26 1 ENEER
= 3 0 7 2 ] ] 7] 7] 0 ] 0 73 72 ] T
EEewn | E & 7 80 34 7 38 5 33 21 21 0 59 26 33 Z B |EEen
EEUATL] | 40 10 10 0 10 2] 15 6 31 15 16 EEUATL
g kE | BEEE | 40 6 6 0 6 24 15 9 ] ] 31 16 15 EEEE | ik
£ 2 80 T6 T6 0 T6 45 30 15 ] ] 62 31 31 1
BEu=t & 1281 4856 738 38 371 813 67 146] 3.353] 3.8 72 23 9] 4.185] 3.967 203 58 |[Ew =k &
* & 3 90 19 19 15 0 71 7] 0 90 90 0 = &
WIthEZ |Emazacr—vay 1 30 4 4 4 0 8 8 0 12 12 0 Epazacr—yvay| I &
T 4 120 3 3 23 0 79 79 0 102 102 0 T
& i 324976 761 33 371 836 %90 126 |__3.432] _3.360 72 23 194287 4064 223 53 z =
7E P il
RN — R HOREE R SHEENR
#e | 2HE | 2| 2 BHE AR - AR = - i B | apmo | 2HE | a2
o z . - & o & " ~ % @ 8 o 25
= . B—E | ARk—Y (=3 =¥ 3 "
T EREE ) emimiy | om0 R s i R s & 5 # & B | g
5 i = k friel
a b c+d+e h . j | +1+ n 0
© i ° (=g+h) ¢ J+k J (=n+o)
& W ] 20 7) 7 0 2 7 0 B W
wiTz [ 2 & ] 40 7 2 0 2 2 0 B & |miTT
(ERS) 2 & ] 40 4 4 0 4 4 0 2 & | (Em)
i 3 120 3 3 0 8 8 0 ot
E&(Fa| 2 80 38 38 0 3 3 1 1 0 E5& (G o)
= & [Ba&FE®| | 40 24 23 ] 3 0 24 23 ] EG®)| % @&
() [EEEE] 40 ] ] 0 ] ] 2 2 0 & ()| (e
i | 4 T60 %3 2 ] 7 4 7 %6 ] K
m |EEEE| 40 13 13 0 7) 7) 15 15 0 EE(EE|
(o (EBEEE] 40 0 0 0 0 0 0 EEEE| ()
= 2 80 13 13 0 2 2 15 15 0 =
Z i 9 360 B4 83 ] 9 3 50 89 ] Z i
£ Bl-ERFHLE
RN — AR HoREE R S1EENR
B BRL | 2 - aHmEN AHmENTR N AHMENR o N ﬁ B | emzp | =g | 2rse
® | = & i Py # @ 8 s 55
# : . hE—8 | RK—Y o P\ = o 251 = = % A N o g 51
T | EREE D epmy | gm0 # R s & A e b 5 B | HRAR
f: ' k Friv
a b c+d+e h . i | +i+ n 0
© ‘ ° (=2 +h) ¢ J+k : En+o)
& & 141 | 5.336 761 38 37 836 690 146] 3516 3,443 73 32 25| 4377 4153 224 58 & =




